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Grade 5 Math Worksheet: Addition and Subtraction (Difficulty Level:
Intermediate)

Name:

Date:

Missing Number Problems

1. 63758 + = 112845
2. - 57431 =70298

3. 30175 + = 105872
4. 97841 - = 51237

5 + 59734 = 118412

Mixed Operations

1. 69573 + 41368 - 23175 =7
2. 88264 - 52394 + 29867 = ?
3. 91285 + 25176 - 31492 =7
4. 65732 -31974 + 21598 = 7?
5. 94315 + 54287 - 73198 = ?

Multi-step Word Problems

1. A department store received 542768 items. 219654 were sold and 108732
were damaged. How many remain in stock?

2. A courier company shipped 782543 packages. 389276 were delivered and
234198 were returned. How many are still in transit?

3. A publisher printed 892374 copies of a magazine. 478216 were distributed
and 136974 were sent back. How many copies remain?

4. A car manufacturer produced 945623 cars. 487392 were sold and 321876
were sent for exports. How many remain?
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5. Alogistics firm handled 687214 shipments. 345987 reached their
destination and 165432 were delayed. How many are still in transit?

Bonus Questions

1. A tech company bought 98721 laptops. 46543 were assigned to
employees and 23987 were sold. How many remain?

2. A bus station had 202 passengers. 121 boarded buses and 57 canceled
their tickets. How many remain in the waiting area?

3. A forest conservation project planted 736291 trees. 341782 were affected
by drought and 154682 were cut for urban expansion. How many trees are
left?

4. A sports academy had 5789 enrolled students. 2872 graduated and 398
dropped out. How many students remain?

5. A furniture factory produced 642315 tables. 327891 were exported and
152764 were sold locally. How many remain?

—-BE THE CHAMPION!--
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